DU BEIEd

Topic:- BELED

1) In Japan, people of all ages read manga. The popularity of manga can be attributed to the unique way in which the
writers create the story. Unlike in Western comics where the story basically would contain childish content, a manga comic
will actually contain content that can be considered as being aimed at adults. As such, philosophical ramblings about the
nature of life and death, terrorism, global conflicts, etc., are something that one can easily find in top manga comics.
However, this is not to say that manga is not childish at all. On the contrary, it has some truly childish, silly things in it. And
it is the way in which the writers fuse the childishness with real-world commentary that makes manga an addiction for its
millions of fans.

The passage above follows the following format:

[Question ID = 4272]

1. Cause and effect

[Option ID = 17085]
2. Problem and solution

[Option ID = 17086]
3. Compare and contrast

[Option ID = 17087
4, Sequence

[Option ID = 17088]

2) In Japan, people of all ages read manga. The popularity of manga can be attributed to the unique way in which the
writers create the story. Unlike in Western comics where the story basically would contain childish content, a manga comic
will actually contain content that can be considered as being aimed at adults. As such, philosophical ramblings about the
nature of life and death, terrorism, global conflicts, etc., are something that one can easily find in top manga comics.
However, this is not to say that manga is not childish at all. On the contrary, it has some truly childish, silly things in it. And
it is the way in which the writers fuse the childishness with real-world commentary that makes manga an addiction for its

millions of fans.
Manga comics have universal appeal because:

[Question ID = 4273]
1. They have silly things in them.

[Option ID = 17089]
2. They are Japanese and appeal to all age-groups.

[Option ID = 17090]
3. They have philosophical ramblings.

[Option ID = 17091]
4. They combine philosophy with silliness.

[Option ID = 17092]

3) In Japan, people of all ages read manga. The popularity of manga can be attributed to the unique way in which the
writers create the story. Unlike in Western comics where the story basically would contain childish content, a manga comic
will actually contain content that can be considered as being aimed at adults. As such, philosophical ramblings about the
nature of life and death, terrorism, global conflicts, etc., are something that one can easily find in top manga comics.
However, this is not to say that manga is not childish at all. On the contrary, it has some truly childish, silly things in it. And
it is the way in which the writers fuse the childishness with real-world commentary that makes manga an addiction for its

millions of fans.

Manga are Japanese comics or graphic novels that conform to an art style developed in the late 19th century. Which one of
the following words can replace ‘conform’ in the sentence above?

[Question ID = 4274]
1. Follow

[Option ID = 17093]
2. Adhere

[Option ID = 17094]
3. Negate

[Option ID = 17095]
4. Confirm

[Option ID = 17096]
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4) In Japan, people of all ages read manga. The popularity of manga can be attributed to the unique way in which the
writers create the story. Unlike in Western comics where the story basically would contain childish content, a manga comic
will actually contain content that can be considered as being aimed at adults. As such, philosophical ramblings about the
nature of life and death, terrorism, global conflicts, etc., are something that one can easily find in top manga comics.
However, this is not to say that manga is not childish at all. On the contrary, it has some truly childish, silly things in it. And
it is the way in which the writers fuse the childishness with real-world commentary that makes manga an addiction for its
millions of fans.

'To fuse’ the childishness with real-world commentary is to:

[Question ID = 4275]

1. Separate the two.

[Option ID = 17097]
2. Blend the two.

[Option ID = 17098]
3. Burn-out the two.

[Option ID = 17099]
4. Short-circuit the two,

[Option ID = 17100]

5) | kept being told that wheat would make me strong while rice would make me fat. At first, when | discovered that this
was a lie, | attributed it to North Indian vs South Indian prejudice. But | worked it out later. Wheat is the backbone of the
global processed food and fast food industries. It made sense to demonize rice and to sing the praise of wheat.

We can infer from the passage that it’s about:

[Question ID = 4276]
1. Food processing

[Option ID = 17101]
2. North and South Indian food

[Option ID = 17102]
3. Mutrition

[Option ID = 17103]
4. Fast food

[Option ID = 17104]

6) | kept being told that wheat would make me strong while rice would make me fat. At first, when | discovered that this
was a lie, | attributed it to North Indian vs South Indian prejudice. But | worked it out later. Wheat is the backbone of the
global processed food and fast food industries. It made sense to demonize rice and to sing the praise of wheat.

Why did it make sense to demonize rice and to sing the praise of wheat?

[Question ID = 4277]
1. Because wheat could be used as processed food by the food industries.

[Option ID = 17105]
2. Because rice could be used as processed food by the food industries.

[Option ID = 17106]
3. Because rice became an important source of money for the food industries.

[Option ID = 17107]
4, Because both wheat and rice became an important source of money for the food industries.

[Option ID = 17108]

7) | kept being told that wheat would make me strong while rice would make me fat. At first, when | discovered that this
was a lie, | attributed it to North Indian vs South Indian prejudice. But | worked it out later. Wheat is the backbone of the

global processed food and fast food industries. It made sense to demonize rice and to sing the praise of wheat.

To demonize is to:

[Question ID = 4278]
1. Make someone or something popular.

[Option ID = 17109]
2. Portray someone or something as evil.

[Option ID = 17110]
3. Praise someone or something.

[Option ID = 17111]
4. Mot discredit someone or something.

[Option ID = 17112]
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was a lie, | attributed it to North Indian vs South Indian prejudice. But | worked it out later. Wheat is the backbone of the
global processed food and fast food industries. It made sense to demonize rice and to sing the praise of wheat.

A synonym that can replace ‘prejudice’ in the passage is:

[Question ID = 4279]

1. Injustice

[Option ID = 17113]
2. Displeasure

[Option ID = 17114]
3. Aversion

[Option ID = 17115]
4. Bias

[Option ID = 17116]

9) As for parakeets, | can watch them all day! They seem to know they are born clowns. Watch a parakeet hang upside
down on a clothesline and go around in clumsy somersaults, nearly falling-off in the manner of best clowns. There is also
something totally exuberant about the way parakeets streak-across the skies, in dozens screaming- like chillies gone berserk-

their greens changing shades in flight.
What is similar between parakeets and clowns?

[Question ID = 4280]
1. The way they can be watched all day.

[Option ID = 17117]
2. The way they go around in clumsy somersaults.

[Option ID = 17118]
3. The way they streak across the skies.

[Option ID = 17119]
4. The way they scream, like chillies gone berserk.

[Option ID = 17120]

10) As for parakeets, | can watch them all day! They seem to know they are born clowns. Watch a parakeet hang upside
down on a clothesline and go around in clumsy somersaults, nearly falling-off in the manner of best clowns. There is also
something totally exuberant about the way parakeets streak-across the skies, in dozens screaming- like chillies gone berserk-

their greens changing shades in flight.

Which word in the passage tells us that parakeets are full of energy, excitement and cheerfulness?

[Question ID = 4281]
1. Berserk

[Option ID = 17121]
2. Clowns

[Option ID = 17122]
3. Streak

[Option ID = 17123]
4. Exuberant

[Option ID = 17124)]

11) As for parakeets, | can watch them all day! They seem to know they are born clowns. Watch a parakeet hang upside
down on a clothesline and go around in clumsy somersaults, nearly falling-off in the manner of best clowns. There is also
something totally exuberant about the way parakeets streak-across the skies, in dozens screaming- like chillies gone berserk-

their greens changing shades in flight.

What does the expression ‘like chillies gone berserk’ tell us about parakeets?

[Question ID = 4282]
1. That they can get very aimless.

[Option ID = 17125]
2. That they can go mad.

[Option ID = 17126]
3. That they can get very noisy.

[Option ID = 17127]
4, That they are born clowns.

[Option ID = 17128]

12) As for parakeets, | can watch them all day! They seem to know they are born clowns. Watch a parakeet hang upside

down on a clothesline and go around in clumsy somersaults, nearly falling-off in the manner of best clowns. gl here is also

something totally exuberant about the way parakeets streak-across the skies, in dozens screaming- like ne bgrserk- .
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their greens changing shades in flight.
‘Falling-off’ and ‘streak-across’ are examples of:

[Question ID = 4283]

1. Verb collocations

[Option ID = 17129]
2. Adjective phrases

[Option ID = 17130]
3. Transitive verbs

[Option ID = 17131]
4. Auxiliary verbs

[Option ID = 17132]

13) My mother juggles family and office work with a that few can match.
Fill in the blank with the correct option:

[Question ID = 4284]

1. Power

[Option ID = 17133]
2. Tenacity

[Option ID = 17134]
3. Hardwork

[Option ID = 17135]
4, Timidity

[Option ID = 17136]

14) The memories of Tauktae and the havoc it wreaked has caused the Centre to enhance
its vigilance and preparedness for other cyclones.

In the sentence above, the underlined words are:

[Question ID = 4285]

1. MNouns

[Option ID = 17137]
2. Adjectives

[Option ID = 17138]
3. Adverbs

[Option ID = 17139]
4. Verbs

[Option ID = 17140]

15) The pandemic has exacerbated inequality, making disparities more starkly visible.

A synonym for ‘exacerbated’ is:

[Question ID = 4286]
1. Devalued

[Option ID = 17141]
2. Disintegrated

[Option ID = 17142]
3. Worsened

[Option ID = 17143]
4, Regressed

[Option ID = 17144]

16) There was an response from students and teachers to cancel the board exams. Fill in the blank with the

correct option:[Question ID = 4287]
1. Overbearing [Option 1D = 17145]

2. Overemphasizing [Option ID = 17146]

3. Overwhelming [Option ID = 17147]

4, Oversimplifying [Option ID = 17148]

17) Mandarin Chinese is a tonal language. This implies:[Question ID = 4288]

1. That each word has stress. [Option ID = 17149]

2. That each word is pitchless. [Option 1D = 17150]

3. That one word can not have multiple meanings depending on the tone used. [Option ID = 17151]
4. That one word can have multiple meanings depending on the tone used. [Option ID = 17152]
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18) It is hardly surprising that self-confidence, linked as it is to having a positive self-concept, a personal identity, fails to
develop in an institutional ethos which highlights namelessness and impersonal, bureaucratic treatment. Unlike the private
(‘public’) school which always has a distinct name, state-run schools are nameless: they are called ‘Government Higher
Secondary School.” The name of the locality or place where the government school is located is the only marker of its
identity. This lack of institutional identity is keenly reflected in the diffidence with which children attending state-run
schools respond to the question routinely put to children in our country: ‘Which school do you go to?’

How is a state-run school identified?
[Question ID = 4289]
1. By its locality

[Option ID = 17153]
2. By its children

[Option ID = 17154]
3. By its name

[Option ID = 17155]
4. By its institution

[Option ID = 17156]

19) It is hardly surprising that self-confidence, linked as it is to having a positive self-concept, a personal identity, fails to
develop in an institutional ethos which highlights namelessness and impersonal, bureaucratic treatment. Unlike the private
(‘public’) school which always has a distinct name, state-run schools are nameless: they are called ‘Government Higher
Secondary School.” The name of the locality or place where the government school is located is the only marker of its
identity. This lack of institutional identity is keenly reflected in the diffidence with which children attending state-run
schools respond to the question routinely put to children in our country: ‘Which school do you go to?’

Children in state-run schools have a poor self-concept because:

[Question ID = 4290]

1. The bureaucracy is indifferent towards them.

[Option ID = 17157]
2. Their schools do not even have a name.

[Option ID = 17158]
3. Private schools are better.

[Option ID = 17159)]
4, They can't answer simple guestions.

[Option ID = 17160]

20) It is hardly surprising that self-confidence, linked as it is to having a positive self-concept, a personal identity, fails to
develop in an institutional ethos which highlights namelessness and impersonal, bureaucratic treatment. Unlike the private
(‘public’) school which always has a distinct name, state-run schools are nameless: they are called ‘Government Higher
Secondary School.” The name of the locality or place where the government school is located is the only marker of its
identity. This lack of institutional identity is keenly reflected in the diffidence with which children attending state-run
schools respond to the question routinely put to children in our country: ‘Which school do you go to?’

A word that can replace ‘diffidence’ in the passage is:

[Question ID = 4291]
1. Hesitancy

[Option ID = 17161]
2. Culture

[Option ID = 17162)]
3. Beliefs

[Option ID = 17163]
4. Confidence

[Option ID = 17164]

21) The length of a minute hand of a clock is 35mm. Find the area swept by the minute hand in 15 minutes:
gt AT gz s gE AT arar€ 35 mm & | 15 forae & frae 911 g & 730 Of T 8%« §7T 707 a7 |

[Question ID = 4292]
1. 962.5 mm?

[Option ID = 17165]
2. 96.25 mm?

[Option ID = 17166]
3. 91.25 mm?

[Option ID = 17167]
4, 912.5 mm?
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[Option ID = 17168]

22) Visualize an animal having a stream-lined and slippery body. Identify the correct habitat of the animal:
TF TH FATAIT FT Fe7A7 FL frasr adc gretdg st fpaaaqmarg | Aw d § 39 099 af sra19 #7 9g97+9 #:9¢ :

[Question ID = 4293]
1. Desert/+firEm

[Option ID = 17169]
2. Water/9r+T

[Option ID = 17170]
3. Grassland /= #15

[Option ID = 17171]
4. Mountain/Tg1E

[Option ID = 17172)]

23) Which one of the following statements is true about the human blood vessels?

ATAG TH ATEHTA @ a2 7 fAwfofaa & @ s arsgaag §?

[Question ID = 4294]
1. Pulmonary artery carries oxygenated blood. /FFEH T et s tor 476 7% & AT 2

[Option ID = 17173]
2. Pulmonary vein carries the deoxygenated blood. /FvEstT forT sfffza = &1 327 #7947 &

[Option ID = 17174]
3. Pulmonary artery carries the deoxygenated blood. /FFFta am=T sAiaiorT TET 77 =1 727 F747 2 |

[Option ID = 17175]
4, Coronary artery carries deoxygenated blood. /FHAT 99T ¥ sfiwTa 2T 7% &7 924 F747 £ |

[Option ID = 17176]

24) Which of the following processes can be used for the separation of the mixture of ammonium chloride and sodium
chloride?

FHITaw FI0rEE st wrfeaw serorse & o &t a7 $37 ¢ e Fafafas & @ g giFar 799707 fRarsrasare?

[Question ID = 4295]
1. Vaporization/=Tefao

[Option ID = 17177]
2. Sublimation/Z=9a"

[Option ID = 17178]
3. Decomposition/= 9=+

[Option ID = 17179]
4, Filtration/f9=i=3

[Option ID = 17180]

25) Which of the following metals is a good conductor of electricity?
A) Silver

B) Graphite

C) Copper

D) Silicon

frafafaa & | st o1 a1g e w7979+ @7
A. e

B. #wrze

C. 19T

D. fafarsta

= faT o fraedt & & gt swegd .

[Question ID = 4296]
1. Only B/F3+ B

[Option ID = 17181]
2. Only C/#Fa% C

[Option ID = 17182]
3. A, CandDonly/F39 A, C5T D

[Option ID = 17183]
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4. Aand Conly/FaT AT C

[Option ID = 17184]

26) The pH of four solutions A, B, Cand D is 8, 2, 6 and 4 respectively. Arrange them in the correct order of acidic
strength:

T FAwaat A, B, C3tT D %7 pH F9: 8, 2, 6 ST 4 I8 AT qAAT D A g %9 & swafeyy =¥ :

[Question ID = 4297]
1. A>C>D>B

[Option ID = 17185]
2. B=D=C=A

[Option ID = 17186]
3. C>D>B>A

[Option ID = 17187]
4. D=B>C=A

[Option ID = 17188]

27) Suppose a thick copper wire is held in a vertical direction. In which direction should the current be passed through the
copper wire for creating a clockwise magnetic field around it?

717 13T i T 712 qid T T T Seafa fRar & t@raare g9 S #17 A0TR 74 ML vF <fyorrad gahw g7 I99 *
forw <z =Y fra frar & warfea fvar arar sfirwe?

[Question ID = 4298]
1. From bottom to top/#1= & 0¥ &%

[Option ID = 17189]
2. From left to right/3Td & =10 9%

[Option ID = 17190]
3. From top to bottom/F7% & f1= 7%

[Option ID = 17191]
4. From right to left/zi T & =19 9%

[Option ID = 17192]

28) Identify the correct statement:

frafafaa & @ 9 97 97 g3 ¢

[Question ID = 4299]
1. Frequency is expressed in decibel (dB)./srafs === (dB) # == F7 77 &

[Option ID = 17193]
2. 1 hertz is one oscillation per second. /T Zr& 9T 7%= 1 227 2

[Option ID = 17194]
3. Amplitude is expressed in hertz (Hz). /=T #1227 (Hz) ¥ =9 fFar a7 2

[Option ID = 17195]
4. 1 decibel is 60 vibrations per second. /60 Fu= ufd #5= 1 == &

[Option ID = 17196]

29) Ira immediately pulled her hand back as she felt the pricking sensation while picking up wildflowers from the bushes.
Her reaction is due to the stimulation of:

ATFETT | STt | ISTT THT AT AGLH g1 T 7 LT Fq71 grey fR &= forar ot srghoear eos ediaw & sewr 2

[Question ID = 4300]
1. Bone cells/#f&r Frfargr=i &1

[Option ID = 17197]
2. Blood cells/7=F Frfarwram F7

[Option ID = 17198]
3. Nerve cells/#@f3=r Frforwr= £

[Option ID = 17199]
4, Nucleus of cells/FTer=F1aAT F F5F F7

[Option ID = 17200]

30) Which of the following is NOT true about vacuoles?

frafafaa # & s17 91 797 wwyrfaat & a & o a8 82

[Question ID = 4301]
1. They are small-sized in animal cells./d ST FITFTA § T2 AFE T 200 2
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[Option ID = 17201]
2. They are a storage house of amino acids and sugars. /3 HHAT U= 37 %77 FT A0 97 2

[Option ID = 17202]
3. They synthesise proteins. /& TIEH T qE9T F44 §

[Option ID = 17203]
4. They provide turgidity and rigidity. /& fiff #iv F2war e 9 £

[Option ID = 17204]

31) Which one of the following is true about 3*Cl and *CI?

Belafz ClF IR # fAafofa d @ srvarsaaaa 2

[Question ID = 4302]
1. Both of them have different chemical properties. /ZHT # F=T- =7 YT 7 &

[Option ID = 17205]
2. Both of them are isobars. /Z=T Fwarfy= &

[Option ID = 17206]
3. Both of them have same valency. /=HT Ft SaTFAT TH £

[Option ID = 17207
4. Both of them have different valency. /3197 &t H#ATTFAT AAT-HAT &

[Option ID = 17208]

32) If Seema walked from point A to point B in a room, we can assume that the ratio of her displacement to distance will

always be:

FfrdinTus s A g A & fag B a5 9T, Tr gw ara 9%a € % v Frearow w138 | stgara gRar v

[Question ID = 4303]
1. Always less than 1./Z59T 1 7 F9

[Option ID = 17209]
2. Equal to 1 or more than 1./1 F F3137 47 1 7 AT+

[Option ID = 17210]
3. Always more than 1./g89T 1 & s

[Option ID = 17211]
4, Equalto1 orlessthan 1./1 F TFETAT1 FFH

[Option ID = 17212]

33) The area under velocity-time graph represents a physical quantity whose unit is equal to the unit of:

FT-TRT ITH F TET TF & 7S A7 F7 wiafafores $7a7 ¢ Brasdt 357 199 | i g Y g8 & aua

[Question ID = 4304]
1. Light year/sFrer 37

[Option ID = 17213]
2. Force/sF=

[Option ID = 17214]
3. Volume/smaaq

[Option ID = 17215]
4. Acceleration/=¥m

[Option ID = 17216]

34) Anita is amazed to see that the suction cups when pressed on a smooth plane surface keep sticking to it. What is the

reason for the suction cups sticking to the surface?

Ffar 7g TEHFL ITHT @ TTdT & T 9 9997 FU ST G977 GTE T IATAT ATAT & T8 ST HIHT AT ] TH TCE GFqT Y

qHad gag I o @ ST Far FIIUr 2

[Question ID = 4305]
1. It is because of the pressure exerted by Anita./sT=aT ST 77T 77 2379 F F0

[Option ID = 17217]
2. The air gets sucked by the cups./#7 & Z17T gaT &= 4T &

[Option ID = 17218]
3. The atmospheric pressure act on the cups. /T T7 FTIHEAT 74T 14 F7aT &

[Option ID = 17219]
4, Large amount of air gets trapped between the cup and the plane surface. /7 @7 T0a= a2 # = T2 a7 § g7 F1 ATAT 2

[Option ID = 17220]

35) In an experiment three breakers with 30 ml of water each were labelled as X,Y and Z. A small am

H4NO3,
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CaCl2 and NaOH was added to the beakers X, Y and Z respectively. Lowering of temperature of reaction mixture in beaker
X whereas elevation of temperature in beaker Y & Z were observed. Which of the following is/are correct?

A. In beaker X endothermic process has occurred
B. In beaker Y and Z, exothermic process has occurred
C. In beaker X exothermic process has occurred

D. In beaker Y and Z endothermic process has occurred

THF TR 30 FrefiseT orT ara AT ST & asr X, Y AT Z F S # &9 {FI7 797 IT NH4NO3, CaCl2 3T NaOH 1 9T=T
ATATHT FAM: FFTXK, Y AT Z F grar vq71 a7 e X ® afafear frgo @ aroara § a4t o safr fiwcy scz # aroamw

® gfg et v fwfafaa & | Ft7-917/8 s97 98t /27
A. FHTX & FeATIIET (TErafEw) gfeargs

B. fiwT Y T Z ¥ FoATA T (wFarafis) wiwar g

C. fFTX & Foara |t (TFarefis) sirargd

D. stFT Y 3T Z & Sewrenret (CrafHw) whear g3

= few g fFraedt # & agt SO HA ¢

[Question ID = 4306]
1. Bonly/F3+ B

[Option ID = 17221]
2. Aonly/Fa A

[Option ID = 17222]
3. Cand Donly/F=3= C =iz D

[Option ID = 17223]
4. Aand B only/F3 A #iIv B

[Option ID = 17224]

36) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R.

Assertion A: A solution of slaked lime is used for whitewashing walls.

Reason R: Calcium hydroxide reacts slowly with the carbon dioxide in the air to form a thin layer of calcium carbonate on
the walls.

In light of the above statements, choose the correct answer from the options given below:
= ¥ waT R aed . oF w7 AfrHaT (A) T TET FT FIO7 (R) FET AT
FfFaT (A) : TH U IR & FFIT F7 37907 A1 F1 wh St F fore fvar srar @

FTL0 (R) : #feaaw gregivurses ga1 # w147 sTgafFaTIe & 9Ty g13-6R afwirar 50 fradd . d R sraiRz ST s
TTAT ILT TATAT &

Id FAAT ® arerw ¥ AwifFra Fweat & | gt Iwegd

[Question ID = 4307]
1. Both A and R are true and R is the correct explanation of A./(A) 3 (R) T =1 & #17 (R), (A) &1 727 =@17807 3

[Option ID = 17225]
2. Both A and R are true but R is NOT the correct explanation of A./(A) 47 (R) =1 921 £ 771 (R}, (A) F1 72T =qTEAT 95 8

[Option ID = 17226]
3. Ais true but R is false./(A) #21 & 7o (R) A#T A1 &

[Option ID = 17227]
4. Ais false but R is true./(A) 72 7#f & wv=g (R) @&l &

[Option 1D = 17228]

37) When a Magnesium ribbon is burnt in air, it forms a powdery substance A. A is then dissolved in water and it forms
substance B which turns red litmus blue. Identify the substances A and B:

9 TH AU g Feaa ST ga 7 & THATATAT R, TTTE TF 90 A7 727 AFA1a71 8 A FT R ot & aiw fegr wirav & e @g
qZTd B FATAT & 9T 97 fregg T AT HFT A7 8 721 AT B &Y qg9ma #X ¢

[Question ID = 4308]
1. Mg0 and Mg(OH)z

[Option ID = 17229]
2. Mg0; and Mg(OH);

[Option ID = 17230]
3. Mg0O; and Mg(OH)

[Option ID = 17231]
4, Mg(0H); and Mg0
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[Option ID = 17232]

38) Bushra throws a ball upwards from point X and it reaches the highest point Y. Which one of the following statements
holds true for the given situation?

IATTF AT T AT X | STTHT AT HFAT & T T Igaw fog Y weugwdt ¢ frufofaa & & staarsga <t ws fRafa & oo
LEAR A

[Question ID = 4309]
1. Potential energy at X is equal to Potential energy at Y./X 97 it fPafas =t Y w7 & Pufawr s=i F av=w

[Option ID = 17233]
2. Potential energy at X is equal to Kinetic energy at Y./X W fr Ruffw saty w1 nw saiF avmav 2

[Option ID = 17234)]
3. Kinetic energy at X is equal to Potential energy at Y./X 77 &t wwfas Z=f Y w7 & Fufaw =t & avm=7 &

[Option ID = 17235]
4. Kinetic energy at X is equal to Kinetic energy at Y./ X w ft ifim saty ww fr offw st # av=e 8

[Option ID = 17236]

39) A rocket firecracker placed in a bottle rises up when its wick is lit. Which of the following statement(s) is/are true?
A) The work done by gravity on the rocket is negative.
B) The work done by combustion of rocket is positive.

C) Total work done is zero.

TH ITT § AT UHE TSTET IAHT 74T F a9 I FICIsqT1 ¢ Mufofaa § 9 $17 9/9 $97 97 2/87
A. THT 9T qEATHY O G107 /AT 7177 F7F |HOTe0F 8

B. Ti#Z # T gTxr /a1 a1 14 gATHT AT 2

C.fFaTarga 14 = 2

= few wy fFwedi & § agt SO A ¢

[Question ID = 4310]
1. Only A/Fa7 A

[Option ID = 17237]
2. Only B/#9+ B

[Option ID = 17238]
3. Only C/Fa7 C

[Option ID = 17239]
4, Both A & B/A 7 B F=IT

[Option ID = 17240]

40) Vaccines are administered to prevent diseases. They provide immunity to our body by:

HaTheat & g91a & T AT amg ara € 3 AT A0 FT 59D g TACHATAIA F4A ¢ -

[Question ID = 4311]
1. providing antibiotics to our body. /ZHT ¢FT Fr TEETITTEFRT T2 F7AT

[Option ID = 17241]
2. increasing the number of antigens in our body. /28T o/¥t & vdter it der § 7% #97

[Option ID = 17242]
3. programming our body to produce suitable antibodies. /37 TZAT=1 FT I°IEH F4 F (10 ZHTE 9T H  FIATIHIT F7A7

[Option ID = 17243]
4, programming our body to produce anti-inflammatory cells. /T et Frfarrat &1 3eqraa F77 F oo gur ofts § srnfds w00

[Option ID = 17244]

41) Given below are two statements, one is labeled as A and the other is labeled as B.
Statement A: In sexually reproducing organisms the amount of DNA remains the same in each new generation.
Statement B : Germ cells carry only half the amount of DNA as compared to the non-reproductive body cells.
In light of the above statements, choose the correct answer from the options given below:

fF srFgafRoac g :

FYT - A : ATTH TATHFH 79 F91 ® WA H 78 T30 § ELUA.T AT ATAT THTA GAT &

FY7 - B : a0 HT w77 a0 HfAFTH F1 qFA7H 797 HrfrwraAt F oA At daw gt AarAr S T
ITLH HIAT * srerw A Awiafas Fseat 8 € 9t gaead

d
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[Question ID = 4312]
1. Both A and B are true and B is the correct explanation of A./(A) %7 (B) =141 @Zf & #1T (B), (A) Ft 72t F=q1807 &

[Option ID = 17245]
2. Both A and B are true but B is NOT the correct explanation of A./(A) 3 (B) F1 #&T & 79+ (B), (A) FT 7&l F=AT=4T 721 |

[Option ID = 17246]
3. Afis true but B is false. /A 7&I & 99+ B @& 781 £ |

[Option ID = 17247]
4. Ais false but B is true./(A) 75T 721 & 79+ (B) 72T &

[Option ID = 17248]

42) Two friends, Hamida and Swati, play a badminton match. It is known that the probability of Hamida winning the match
is 0.52. What is the probability of Swati winning the match?

T T1ET, FHIAT AT eqTet, ur defea Ag @ad € ara grar g 5 gdtar & g sftad &1 wrfAsar 0.52 8 =ardt & d9 sftad v
TTFar F778?

[Question ID = 4313]
1. 1

[Option ID = 17249)]
2. 0.48

[Option ID = 17250]
3. 0.62

[Option ID = 17251]
4, 0.46

[Option ID = 17252]

43) Consider the following statements on the meaning of communal politics. Communal politics is based on the belief that:
A. One religion is superior to that of others.

B. People belonging to different regions can co-exist in harmony

C. Followers of a particular religion constitute one community

D. State power cannot be used to establish the domination of one religious group over other groups.

givarfas vadifa @ ad | a5ty Frafateg s997 o T s giverf@s asdifa oo e o srarfea € B
A.THFgd gaL gAT & S8 ¢

B. faf¥rsr &= & dfAa Mragra & usaT19 T 953 &

C. ts fAftw g & srqamdt TF GHITT FTIST FLA &

D. uH ga1ffF 99z #7138 augl 7T vy eqrfog £ & v oy af3F w7 3070w 78 frarsrawar

#19 feT g FAweqi & @ 9t I9 A ¢

[Question ID = 4314]
1. A,B,CandD/A, B, C#H7 D

[Option ID = 17253]
2. A, BandD/Fa7 A, B3H7 D

[Option ID = 17254]
3. Aand C/FF7 AT C

[Option ID = 17255]
4, Band D/FF9B#H= D

[Option ID = 17256]

44) In Netherlands there exist social differences among people. There are people belonging to different class and religion.
They have Catholics and Protestants, who are equally likely to be rich or poor. This type of social difference can be
regarded as

Ferde § &t ® fiw arariors aade aige € agf Afyw g e gd @ v § 2 fqfors st ez &, g adtcgr ol
A FTFATT T H EATIATE S THTL D AT ATCFI ATATIATAFATE ¢
[Question ID = 4315]
1. Unity in diversity/===aT1 ¥ 7T
[Option ID = 17257
2. Cross-cutting social difference/® - amaTior =7

[Option ID = 17258]
3. Overlapping social difference/# =it g =7

[Option ID = 17259]
4, Social division/ATTEF Fars
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[Option ID = 17260]

45) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Assertion A: In a barter system goods are directly exchanged without the use of money.

Reason R; Double coincidence of wants is an essential feature of it.

In light of the above statements, choose the correct answer from the options given below
AR T FITRTATE : TF FT ATHFIT (A) AT LA FT FIL0C (R) FETAAT

#fyrwaw (A) : &g Afaagy gurst & faar 4@ # €9 gra w1 argra-g2ra Frararar

FHTITC (R) : ATZAT HT I G FGHT OF Hiwa1d Aarwar g

ITLF FA9T * areirw § Awifrg Aseat & @ gt sav A .

[Question ID = 4316]

1.

Both A and R are true and R is the correct explanation of A/(A) 7 (R) 24T 72T £ 3017 (R), (A) FT #27 =1=47 &

[Option ID = 17261]
Both A and R are true but R is NOT the correct explanation of A/(A) =¥ (R) Z1HT 721 # 791 (R), (A) &1 =721 ==y 781 &

[Option ID = 17262]
A is true but R is false/(A) 2T & w7+ (R) 7 721 £

[Option ID = 17263]
A is false but R is true/(A) @2t 721 £ 7o+ (R) 721 &

[Option ID = 17264]

46) What is the distinguishing feature of a federal government?

geftg g &t fafire fArgaar #=a7 87
[Question ID = 4317]

1.

Central government gives some powers to the provincial governments. /%3 FTH¥ T AYFTT %1 Fa o741 5471 2

[Option ID = 17265]
There is equal distribution of power among the legislature, executive and judiciary./f@Earf@=T, FrmiemET v =i % #i=7 ofF 71 79 Faew

[Option ID = 17266]
Governmental power is divided between Central and State government. /av#rt «ifsr #3 #fiv 7197 ava & fi= Frarfea g

[Option ID = 17267]
Elected representatives exercise supreme power in the government. /T ai=a gfafie avww & "arg o~ F71 9907 7749 2

[Option ID = 17268]

47) Which among the following is the special feature that distinguishes a pressure group from a political party?

frafafaa € @ st €1 Fay FAAwar g 5 ©F 979 94 FT TF UAA AT T § FAOT FLAT 27
[Question ID = 4318]

A

Parties take political stances, while pressure groups do not bother about political issues./TT=aT TTAAHF & ATATAT 2, FA+ 2979 THg TTAATF T2l
¥ ST AR AT 2

[Option ID = 17269]
Pressure groups are confined to a few people, while parties involve larger number of people./ZaT9 WY & @AM TF 21 AI1HT 214 &, a6 7247 H
FET F7gT ST ofEe 2 E

[Option ID = 17270]
Pressure groups do not seek to get into power, while political parties do./ZaTa 7Hg 79T § A1 F1 FIT09r T2 T, TATF TTAAAF 59 T &

[Option ID = 17271]
Pressure groups do not seek to mobilise people, while parties do./ZaTg #Hg =1 F1 ArfE=rss T4 $7 Frforer 787 F77, F=fH mfdgy w7 &

[Option ID = 17272]

48) In the context of democracies, which of the following ideas is correct - democracies have successfully eliminated?

wrFaAt @ gad 7, Frafafaa d & staarfR=cadt § - arsds T gwaargds aarw w5 faar 2
[Question ID = 4319]

1:

Conflicts among people /T F == #ad

[Option ID = 17273]
Economic inequalities among people/# Tt # = arfd+ aoarar

[Option ID = 17274]
Differences of opinion about how marginalised sections are to be treated/s=TH&a1F T + ATT FAT FAFAZT (F47 FI0, TH AT7 H ATAE

[Option ID = 17275]
The idea of political inequality/¥Tar=1fa= d=araT 1 F=r

[Option ID = 17276]
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49) Which among the following statements about India’s Constitution is wrong?

A1 ® gfgm d R # fAaffys 8 @ stvarsgraag @2

[Question ID = 4320]
1. It prohibits discrimination on grounds of religion. /98 &% F #eNT U7 =971 1 TFAT £

[Option ID = 17277]
2. It gives official status to one religion. /=g TF =3 FT ATEFIF A7 20T 2

[Option ID = 17278]
3. It provides freedom to all individuals to profess any religion. /@g w1 =afwai #1 Flt ff aof 1 w19 FY Ta=aT w2@ F7971 8

[Option ID = 17279]
4. It ensures equality of citizens within religious communities. /a7 a7 TH=TT # W7 AT F FAEAT gt 7097 2

[Option ID = 17280]

50) Which of the following reasons for conducting elections is false?

gqaTa U &1 fAafafas § @ 19 91 w1007 797 772

[Question ID = 4321]
1. Elections enable people to judge the performance of the government./SATa MHTT FT FTHT F F14 TS99 FT =T 717 F77 7 TLH T797 2

[Option ID = 17281]
2. People select the representative of their choice in an election. /@131 AT § a1 vz F wiatafer &1 997 574 §

[Option ID = 17282]
3. Elections enable people to evaluate the performance of the judiciary./FTa FRIT FT ST F TZ4F FT GoA799 F77 § T997 T477 2

[Option ID = 17283]
4. People can choose the party whose policies will guide the government and law making. /@137 39 T2 &1 F7 A% 2 el #ifaar a7+ i F17 797
FT AR FAT

[Option ID = 17284]

51) Which of the following statements about the judiciary is false?

raqTierEr & e ® fAafafaa # @ $19 91 597 w97 §72

[Question ID = 4322]
1. Every law passed by the Parliament needs approval of the Supreme Court. /8% ET T a TedF FTIA 1 AATg ATATAT Kl FAHIT 1l AFLTFAT BIAT 7

[Option ID = 17285]
2. Judiciary can strike down a law if it goes against the spirit of the Constitution. /mramiferT s %1€ Frm dffam g F BeEmE s A9 =5
AT

[Option ID = 17286]
3. Judiciary is independent of the Executive./=ITaTi=FT FTHI=F1 & =7 7

[Option ID = 17287]
4, Any citizen can approach the courts if his/her rights are violated./#T% T AT st FTEF1T1 F7 Foo99 219 T2 AZTAAT F1 Z7ATAT T2H2T AFAT &

[Option ID = 17288]

52) The Brundtland Commission Report 1987, not only mentioned the necessity of resource conservation but also advocated
the concept of Sustainable Development which was subsequently published in a book titled:

1987 FT det® argI T &t e A 7 F99 THTYT TTHAT F1 AFITFHAT F7T Ioav @ 577, 967 gag fasra 1 aggroor 711
FETad #1, B8 a7 # vs geaw # wariara frgr war, Srawr ofidfs a1

[Question ID = 4323]
1. Resource Conservation & Sustainable Development/FaT FAF9A T2 Ar2q9+ s9ATHZ

[Option ID = 17289]
2. Our Common Future/#&7 FHT FHT

[Option ID = 17290)
3. Small is Beautiful/¥1e To =27

[Option ID = 17291]
4. Resource Sustainability/ = se=afaferdt

[Option ID = 17292]

53) Given below are four statements; examine them in the context of status of development of all resources.
(A) Resources that are found in a region and are being utilized are called Potential Resources.

(B) Resources which are surveyed and their quality and quantity have been determined for utilization are called Developed
Resources.

(C) Materials in the environment which have the potential to satisfy human needs but we do not have the appropriate
technology to access are considered Stock.

(D) The subset of stock which can be used by technical know-how and are already in use is called Rese
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= I FgA e u §; adt Faryat F fAwrg A Rafy g F sawr 0w fNifvrg :
(A) ® garga o et @& & qro a7 & it Rrasr sgatw frar ot <@ @, 9rl¥e durgw sgera €

(B) fora waraat &1 aFeror FHgr F1a7 2 ST IUFT F g IS yyora=w stz wraAT Fraf o 7 et §, s°F Arwfyg dargw w70
STAT &

(C) wafa<er # TqfRaq araAT ST ATALTT TETAT FT LA FLA T AHAIT T@AT ¢ ATHT AR I7H IGHT IVGMN FLA ¢ I0YH
TFEAF AT &, I° wEiE ATAT ATAT B

(D) T=tH FT FIAE AT THATHT ATTHTL T ITAT FFIr A7 FFAT 8 T w2 & &Y Ivv & ¢ 38 feod wgromar g
= faT o fweat & @ gy suT A

[Question ID = 4324]
1. (A) & (B) true and (C) & (D) false/(A) &= (B) 7#1 & &= (C) =¥ (D) 7917 &

[Option ID = 17293]
2. (A), (B) & (C) true and (D) false/(A), (B) #i¥ (C) 2" £ &= (D) 797 &

[Option ID = 17294)]
3. (B) & (C) true and (A) & (D) false/(B) 3T (C) @21 & =fiw (A) &7 (D) =17 &

[Option ID = 17295]
4. (C) & (D) true (A) & (B) false/(C) ¥ (D) =T 2, (A) ¥ (B) oia &

[Option ID = 17296]

54) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R.

Assertion A: Change in cropping pattern from cereals to high value crops is seen beneficial for Indian Economy.
Reason R : India should follow the practices of successful economies by exporting farm products and importing cereals.
In light of the above statements, choose the correct answer from the options given below

A T FYT AT AT E : TEH FT ATHFIT (A) AT FAT FTFTCO (R) FETTAT R

FfwrwaT (A) : O« Ve } g7+ FOAT & IY A7 ITAT FAAT R G247 ATCA 1T KL FTEAT D AT FAIHI ATATATAT ®
HTT (R) : AT w1 {1 Ieural &7 Frafa s area 51 sra77 33 a%« safsmaeqraf 1 74730 7T 9769 AT ATRC
IYLH FAAT P ArarF q (et o faweat & / agr sac Iy ¢

[Question ID = 4325]
1. Both A and R are true and R is the correct explanation of A/(A) #i¥ (R) =T 727 £ 7 (R), (A) F7 77 =117 8

[Option ID = 17297]
2. Both A and R are true but R is NOT the correct explanation of A/(A) & (R) 39T ##1 & 97+ (R), (A) ¥ #& =37 727

[Option ID = 17298]
3. Ais true but R is false/(A) 72T & 77+ (R) T2 7&l &

[Option ID = 17299)]
4, Ais false but R is true/(A) W2 921 & 797 (R) 7T &

[Option ID = 17300]

55) Consider the following statements about reserved forests.

I. Reserved forests are owned by the government and human activities are not allowed in these forests.
Il. These forests are regarded as the most valuable in terms of conservation of forests and wild life.

lll. These forests constitute about more than half of the total forest land in India.

Which of the following is correct?

arfEra 791 & 9t # fwfoafaa saa71 o f=ame s

| sr<fra a9 g1 # warfes & € st g7 a7 & aradry wfofyfaay €Y srqafy adf @

Il T AT T+ 1T & g 1 g & 7 97 7T 999 eATT ATATATATE

N3 FTATE A AT LA B and & arfers &

fraad | srtraradt &7

[Question ID = 4326]
1. Land II/1 37 11

[Option ID = 17301]
2. 1l and /11 3 11

[Option ID = 17302)]
3. Land I/ == 10

[Option ID = 17303]
4, AlLL I and /1, 11 3= 10 =T
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[Option ID = 17304]

56) Arrange the following in the correct sequence.
I. Treaty of Vienna
Il. Napoleonic Wars began
lll. Unification of Italy
IV. French Revolution
frafrfaa sTadr s9 7 safRga w1 :
| frgsT St 5fy
Il AN TorgT § gE o1 e
. gt HT THFFT
V. Ra wifa

[Question ID = 4327]
1. v, 1, Ll

[Option ID = 17305]
2. IV, LI

[Option ID = 17306]
3. LILILIV

[Option ID = 17307]
4. 1,1V, 1,11

[Option ID = 17308]

57) 35-year-old Saurav works from 8 am to 8 pm for seven days of the week in a garment exporter firm. He works as a
contract labour, and his employer does not give any facility. He also knows that he is employed for a few months of the

year, yet he continues to work as he has no other option.

Analyze the above information considering one of the following correct options.

BT T A E CFFIET AT T A I FH A AT S AT TGI8 TN A T B TH TF FTH FLAT® T UH SHT AWML H
7 H FTH FLATE, AT IFFT ANFrFrE gfagradi 2ar g agag AT sraar g s 98 af & 55 977 & Prosdw g, et

TE HTH FLAT AT THAT ¢ FHT1TH IR ITH F75 77 [AFeT 7ET 2
frafafaa ot Rreeal & @ 5t os = F=Eres@ gu st sasrd &1 gy w3

[Question ID = 4328]
1. MNCs creating job opportunities/ag7T8rT Fi=aT 70T F FFA7 TaT F7 721 2

[Option ID = 17309]
2. Workers jobs security with more perks/ =& W=T F AT GTHFT FT ATFIT HT L&

[Option ID = 17310]
3. Labour reform and regulation/=# qur =i+ fAffras

[Option ID = 17311]
4. Ul effects of globalization/F=T=F7r F gt

[Option ID = 17312]

58) Following are the characteristics of an area in India

1. Hot and Humid climate

2. Annual rainfall 200 cm

3. Hill slope up to an altitude of 1100 meters

4, Annual range of temperature 15 degree C to 30 degree C

Which one of the following crops is most likely to be found in the area described above?
qTT # §g &7 #1 Adgard Frafafag &

1. wH T and sroaTy

2. 91f9= I 200 gt

3. 1100 HTT FY FATE TF TETET TATH

4, ITIATT F1 F7i9® Hrar 15 frodft affaaa & 30 feoft afvaay

frafafaa & 9 17 8 vaa Sy afira &5 & g9@ s qre 903 #7 F9TIAT B2

[Question ID = 4329]
1. Wheat/ig

[Option ID = 17313]
2. Cotton/F7mH
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[Option ID = 17314]
3. Pepper/fo=

[Option ID = 17315]
4. Sugarcane/I=T

[Option ID = 17316]

59) Which of the following statement(s) is/are correct about Alvar Saints?

AT HTAT B AL | AHTITaT & & FI7 T1/F 97 &t 2/27
[Question ID = 4330]

1. The twelve Alvars were Tamil poet saints who lived between 6™ and 9th centuries AD and espoused ‘emotional devotion’ or bhakti to Vishnu in

their songs/aT7g AFa7 6 A0 Fid 4 71 6 A1 37 9 A raT=ar SHT F = 90 F A7 907 a1 F Foqp & qrEerews 9 97 9t w5 a9aT w9 F

[Option ID = 17317]
2. The 63 Alvars saints were the Shiva devotional poets who loved between 5t and 10t centuries/5 T 37 10 = oraT=a1 % 19 63 7947 A9 97 F 7
FH T

[Option ID = 17318]
3. Only 2/ 2

[Option ID = 17319]
4. Both 1 and 2/3TT 1 37 2

[Option ID = 17320]

60) When an MNC opens its company in India it is termed as-

T HIE FETEIT FIAT ATLT ® AYAT FYAT GreAAT ¢ T S€ FGT ATAT 8-

[Question ID = 4331]
1. Foreign trade/f==s =mame

[Option ID = 17321]
2. Foreign link/fE=sft o=

[Option ID = 17322]
3. Foreign investment/fE=sft farer

[Option ID = 17323]
4. Foreign migration/fE=¢f wara

[Option ID = 17324]

61) What does COPRA stand for?
COPRA T #T o1 &7

[Question ID = 4332]
1. Consumer Protection Amendment/3TATHT H7=0T HeTa

[Option ID = 17325]
2. Consumer Protection Act/STHT=rT H2&7 sfaf=as

[Option ID = 17326]
3. Consumer Protection Association/ITHT=rT A& #9

[Option ID = 17327]
4, Consumer Protection Assembly/3THI=RT de TaT

[Option ID = 17328)]

62) Whose bhajans were collected and preserved in Guru Granth Sahib, Panch Vani and Bijak?

% ¥ g qriga, 9= aroft s fiors & Frad worat 1 dufga s d<forg Brar g aw

[Question ID = 4333]
1. Surdas/d7=

[Option ID = 17329]
2. Tulsidas/qaeTaTH

[Option ID = 17330]
3. Kabir/#d*

[Option ID = 17331]
4. Mira Bai/dT 4TS

[Option ID = 17332]

63) Sunil bought a second hand television for Rs 2,400 and spent Rs 600 on its repairs. Later sold it for Rs 3,300, then
which of the following is true for the transaction?

A 2,400 T9% ¥ UF ¥FT T 2dfaraT gdiar st gaat woeaq 9T 600 9% @< fFw a17 7 I9 3,300
#A7-39 % forg fAwforfag § & st aradt &2

o 9 fggT, ar
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[Question ID = 4334]
1. Loss of 10%/10% &7 =riv

[Option ID = 17333]
2. Profit of 10%/10% F1 AT

[Option ID = 17334]
3. Loss of 15%/15% F1 z1f

[Option ID = 17335]
4. Profit of 15%/15% F1 919

[Option ID = 17336]

64) HT T §¥FAT

HTAT AT 1 TF FAawar ag <& % 7 47 So-F1a 7 draral # swag a8t @& | Hrow | Frovs@d @ § o/t srae
I TF &7 T 9eI7 7Y 39 AT 19w @ wfrg Y At @, AFFT a7 qAX A7 Y AvyaraAt @ M aga gw A @ s gw
THTL Fa F¥qaT $TFT TET AT AT & | THT TG TF LATAXNT HT G577 FATY SHT LT a5 fafera aaslT 97T 8 o5 saa7
qraey rar g yr=" w19 @ o T g arafyw S gu A qv srea arwa quw @ g |

frw & & grag aeyar £ AdwarFar A 22

[Question ID = 4335]
1. HAHATAHATT I 7247 |

[Option ID = 17337]
2. Z97 Frer 5 Atwrar § 99 745 w24 |

[Option ID = 17338)]
3, gFAET F A8 7 9iFg T2 |

[Option ID = 17339]
4. 77 =9 & Hifem w2 |

[Option ID = 17340]

65) ATHAT §¥9AT

HIAT ¥IATH1 TF AT 78 &t T 7 F41 S0-F79 o7 dravait 7 swag agf @t | foow 8@ oo soa g € s g+t srgne
TLUF &T FT LT AT g @A A7 @ wfyg a1t &, AT g gt @ S aeyqrai @ AT agagx dAdr g gy
THTT s Tear 1 €7 Tgu AT AT & | g6 78 uF ey & gegar gafy st v a5 fafug aadt ardt @ e sasr

FEIE graT g Ir= w1 & A g arafyrs 1 gu AT v e qvaq o @A g |
‘Frafys & ‘arET a5 o -

[Question ID = 4336]

1. =09 UF A 2 |

[Option ID = 17341]
2. TRAAAE |

[Option ID = 17342]
3. FHAEE |

[Option ID = 17343]
4, FAfam ¥

[Option ID = 17344]

66) HTHT F¥IAT

HTAT AT A1 TF FAawar a8 <& % a8 41 So-F1a a1 A9l # avag 78 &t | Hrov | Hrov s« g € "/t arae
TITF AT AFAT I ST FARAAT R A7 8@ wfRAgr vt g, AfFTaggE g FT asqaraAi @ Ay aga gz adr g sesw
TFHTL Forsg a¥qar F1 €7 T AT AT 8 | THT 98 v gufadw ¥ gegar gy a9t gw g+ ot aadt srdt § e Igsr
graey rar g wr" w19 @ F s ag arafysw S gu A quA stea arwy g @ t g |

‘AZ AT A ATAT HT KIF AT ATHAT FT IIT 697 777 87

[Question ID = 4337]
1. 37

[Option ID = 17345]
2. 9IHT

[Option ID = 17346]
3. #7HT

[Option ID = 17347]
4, =

[Option ID = 17348

67) WTTT G¥IAT
AT F¥QT 1 OF fAqwar 75 & 1% 98 F47 2519 F7 A7l § swag 7€ W& | o | o e
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I TF @7 #T 9¥d7 7MY I 9 A 19w @ wfrg Y At @, AFFT ag gat @7 N aegaraA @ N aga gy A @ shegw
THTL Fora F¥qaT FT T TEW FIAT ATAT & | THT IIG TF LATAXT $1 7¥qq1 ATy €T 7 0% Fafwg aadtr st & afew sasr

FA+Y rAT § ITAIT H17 & AT AT T ATATYF g §U AT AU =7 A7 L0 T@AT & |
werier & gead 7 fyuw @ fyow Swd ard @ w7 F7 9 e

[Question ID = 4338]
1. T s 7 gerad gfig 2 A1

[Option ID = 17349]
2. FEEATHE F1 e AT g A g |

[Option ID = 17350]
3, R i G J werar & B O gt aeEm

[Option ID = 17351]
4, gEATA ® AT AA-ET A EATE |

[Option ID = 17352]

68) T TATH ATH

ghagrT & gRar 91 uH-gur A1 997 (Far s 4 | a7 v 7T, ;M2 O Fraat w1 Oa-Fras ST gaarn, 27 fredt- €2 sft7
it @«T, fRgrsT arssT #1 S1ET iAT, 7T ® & 49 ISTFTH 97 | GTAET FT AF-a9F q2A7¢ I ey & oot o
| g & & & sarar aurTdt 91 | fra & Ot are g aret @ g fzar av | st a=rad 97 arsst I+ ae aew vl

“gTE } TR, TT aAF & T q7 AraT  ATCAT AT |
THTw $ gred § ‘FAAT AT PR @ Rrg warw frar war &2

[Question ID = 4339]
1. &+ # fredert & |

[Option ID = 17353]
2. =aT F it % =

[Option ID = 17354]
3. sperteaat & o |

[Option ID = 17355]
4, FEF F AT F Ao |

[Option ID = 17356]

69) FT TATH qTA

ghagra & g ar @971 vH-ga Y 957 FFarad 4 | a7 IgTAT, 92 P Sraat #7 Ara-FraswT FisT gaar, $27 frest- €2 st
Trferat @«T, fRrrsT arssT #it ST a7, 7T d & t9 ISTHCR WAT | T AET FT AAF-HAF H2ATC I e iy 7 foradt o
| YT L€ T 71T aUTAT a7 | faa & 7 17 e g ST & wE frear a1 | yarst s=27d a7 a3t I+ v Tw 0=A.

“grE } AT, 79 997 & L T AT FY ATYAT 4G |7
TaTw $ geas F q wFQ’ F7 4 1T -

[Question ID = 4340]
1. 7 a7

[Option ID = 17357]
2. =TT FAT1

[Option ID = 17358]
3, T AT

[Option ID = 17359]
4. F79 AT

[Option ID = 17360]

70) ST TATH qTH

ghRagrT # gRar A1 UH-gaL #1957 FFarF@ & | 797 ITAT, Fre o Traat 7 Sra-draw qiwy gaar, g2t fredt- €2 s
wrferat @aAT, fRyrsT arsst #1 T a7, FRTd F 99 ITTFLRA M7 | FTAET FT AAF-A7F weare It eqfo 7 ot oF
| BYZ LEF ST FATIT AAT 97 | FHa & ¥ 17 e g a9t & o< fear a1 | FAarsft =973 97 a9t I+ o 937 9829,

“BYE T TRAAL, T AT T A T A7 T ATCATAE |
‘@ & AT AT ATGAT A P ara & e 17 A7 477 g7 T @2

[Question ID = 4341]
1. = H

[Option ID = 17361]
2. wemae

[Option ID = 17362]
3. THAUH

[Option ID = 17363]
4, forg o .
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[Option ID = 17364]

71) ST 9T qT

ghRagra & gaar 197 uH-ga #7957 T £3d 9 | gaw ITTAT, T2 O et $1 fra-drawe qiar gaear, g2 firedt- €2 st
Trferat @«T, fRErsT arssT #t ST A7, 7R d & 49 ISTFCR AA7 | GTAET FT AVF-AAF TLATC IHHT e # forady o
| EYZ UE/ T FATET A4LAT 47 | Faq & qv 7 e ag a9t & oo fzar gt | farst s=7a a7 a9t I=Lf aeazq a4

“GIET T UREY, T 9T 1S <17 T7 a7 gF ATCAT I |7
A9 9 | FIT 9T g 97T FTIITGLU ART 27
[Question ID = 4342]

[Option ID = 17365]
2. feefi-22

[Option ID = 17366]
3. AAE-AAE

[Option ID = 17367
4, A=A

[Option ID = 17368]

72) fufeea=s

g qg ¢ I 2 & Frfpcast @ a8 a2 dwaT I+t wrediy Frfeear 99 3 aa P o+ voft & uF 97 dv us @rer gard #° ¢
TaTeey # foT a=gT 7913 §UIAFT g9d T 7 w7 huwr frar g | @ & 3T 7 gu dear & afvwrd g v w1 go
fears & | FrfFcas &7 a7 99T & GF977 €F TFTST F7 07 G FIAT AT, I IIATLH, HFATATHT, FIATHCT TF
TIT FT G CF AT 9007 ¢ | Faeelt Rag fyara ud wofaww fig % 517 arat gt 78 o« IS0 fvgr a1 % 91eg 48 viq qat &
TART Fraal § FIEATART F1T ATAT LONT Arodet & sqrar gdt § | T 970 F 787 24t #1997 7 54737 g ;T vqrar
AFATAaE 919 e & o fafaat 1 1 gof 7€l frars 21| Faf7ay #F #1€ Afrsar a8t @, garer € s fog aataft

grare |
fafrcas g9 & garfasrd e & @ frasr yae s g e 3@

[Question ID = 4343]
1. 2T 77 75Tt 7 |

[Option ID = 17369]
2. TF U T UF GT 729 AT |

[Option ID = 17370]
3. 3 @rer gadt w7 |

[Option ID = 17371]
4, 7 T =Tt #:7 |

[Option ID = 17372]

73) fufFea=

@I ¢ Fo 2o & Frfrcasi & aa@ a2 dwaa vt Aty FHfFcar 9 3 a9 s 3ot F o 97 v os a1 gerd &0
Tareey F foQ 4587 9973 g¢ IGFHT AL T F FThEAT A1 8 | 1 € 291 § g9 deqr & Af¥w:780 79F7 vAC @ g
frard 3% | fFcas &7 a7 99T & GF977 €F TFTT FT 0 A FIAT AT, ITD IIATLHIN, AFATAHT, FIATHCT T
TIT FTIE TF AT 900 ¢ | Faeedlt oy fysre v wafao #ig & 515 a1t gt 78 o Iqr0< Fvgr a1 % w1 &8 vitg qat &
TART ATTAT F FISATART HT ATAT LAY Arodet & sqrar gt 8 | I 9red & 787 297 Y 97 FY $I747 G AT FATAT
AFHTARE 1A (GATH A ST RIIAAT FT HI1S A Aol rq@1s aar1| gt 1 F1$ Ffawar a8 rdt, garer g o7+ oo aatafy

AT g |
Tt ® gead # gy aafAai @ g faw & @ st arsavafradi &2

[Question ID = 4344]
1. T =g Z9 ¥ F19 5941 £ |

[Option ID = 17373]
2. T TOUE FATT EU TS F WIAET FT AGAAT FAT & |

[Option ID = 17374]
3. F F9A AE 99 F IR T FT FAT 8 |

[Option ID = 17375]
4. T HATH FATH F o0 AfFwar w1 o7 9 # |

[Option ID = 17376]

74) fufecas

gITIE ¢ % 20 # HTrcasi ® gaa 92 gws7 74T A7¢eliy Hfwcar g9 8 A et 9 oot # us o7 st us gra gard &7
TaTeey F foC =97 9979 §¢ IGFT RS T F F7T a1 a1 8 | 12 € 291 & g9 deqr & Ffas:18 s9%7 79 3@ g
frars IX | Ffecas $TY Tar aarar & qeA19 0F TFASTHT 7 g0 FIQT AT, IR AIATIH, AAATLTH G H TAIHLT T

TqT FTIE TEH 74T 90 ¢ | Faeelt Rag fawre g vafawon f7 7 17 19! wgs gg {rsom frarar s ¢ JEAE H .
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TART ArTAT A FIZATAFRT A1 ATAT ZONT AT & 57727 AT & | I1AT A1 47 787 297 1 TAT7 F7 FITET ALE AT FATRT
AFATASE 919 faaTa ® g7 FIq7T FT F1 g 81 faa@rs 97| Faf=gy 7 w12 ATawar ¥ @dY, qarer € 57+ forg aatafx

grare |
werier & gead & arardE, sragrdtece, st & $1eor fyfEoas # 99 a7 #7947 w9t 92T 2

[Question ID = 4345]
1, P fraad az mfr 2|

[Option ID = 17377]
2. FfFETaEfr e 2 |

[Option ID = 17378]
3. i aSs i FTaaa 2T =T 2 |

[Option ID = 17379]
4, et 7 gffer 4 Tear #7989 SET gF 2T AT |

[Option ID = 17380]

75) faf¥eas

AT g & F5 20 & frcasl # 938 78 g7 1+t ity rfycar 9o 1 aa P s 9t 9wl & o 97 e us ey w27 =7

Tqreey F foQ 4587 qq73 §C IGFHT AL T F FTHEAT A1 8 | 1T € 291 & g9 dear 3 Af¥w:780 7957 v F@ g
faars I | ffrcas w1 Tar 99TS § 9¥A79 U WIOST F7 AT A FIAT AT, IR ATATAF, AATATFH, FIATHT T
TdT FTIE TF AT 90 ¢ | Fyodt Raq faara o wgiawwr 57 15 a4t 959 78 771 900 frgr 97 5 g & vhia 2o &
TART ATTAT F FISATART HT ATAT AT Arodet & sq1ar gt & | I 9red & 787 297 # THA7 FY $ITAT AYLF AT FATAT
AFATASE 919 faaTa § T HIAGT T S gA A2t raars 27| Hafg7 7 w18 AFawar 7€ Y, garer g 978 forg aatafy

garg |
FEUET 9T T 97T 19 1R T T @re ugrSt # frearawt 0% w7 -

[Question ID = 4346]
1. 9T9F § TErI1T AT9EE 7 A0+ =AT |

[Option ID = 17381]
2. T Zet F gardtr wrrEEt o afds wmd 2

[Option ID = 17382]
3. AT H AT HTIEE T H FH EATE |

[Option ID = 17383]
4, T 3o § gErdty ArEst g w9 AT E |

[Option ID = 17384]

76) AT H LI FT ZERTHEA A1 & ITI 3 garg 97 etge<l grar I a4 &1 & Freft @ radt s a7 feedt
FTCOUT & FTA TTH ITTINT AT & | TFUAT, AisT s e F & F5 24T # MAIA |7 graLar a7 717 FraT AT B

I
fo eqTat % forg IugF osg e gt w1 9+ -

[Question ID = 4347]
T. aq bailj qTIﬁ-ZT

[Option ID = 17385]
2. =ZATLAT, TATT

[Option ID = 17386]
3. FETEAT, W

[Option ID = 17387]
4, =ZETEAT, T

[Option ID = 17388]

77) 9ER HTALE AT T AT AADHT AT KT AATAT I@AT T LIg Cdg 3T a1 fFearaie A7"
TAATFT ] TR AT & q12 | FIT IGT 9T 27

[Question ID = 4348]
1. GUEE 2

[Option 1D = 17389]
2. AATE

[Option ID = 17390]
3. aifa &

[Option ID = 17391]
4, TEAATE

[Option ID = 17392]

78) fewwy faweqi & & g asg / 'swad 7€ 82 .
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[Question ID = 4349]
1. #&EAT

[Option ID = 17393]
2. #AEE

[Option ID = 17394)]
3. T

[Option ID = 17395]
4. ;19

[Option ID = 17396]

79) a5 w71 fAqdrard s a1+ F Forg v svwd w1 w907 e

[Question ID = 4350]
1. 37

[Option ID = 17397]
2. wf¥

[Option ID = 17398]
3.

[Option ID = 17399)]
4, F

[Option ID = 17400]

80) ‘g # gqu
g1 fy aras,
9 9 99’

- g AT wTCET

7 iRt # w4 7 fra sdse 1 v fear @2

[Question ID = 4351]
1. ¥7%

[Option ID = 17401]
2. THE

[Option ID = 17402)]
3. ITHT

[Option ID = 17403]
4, AT

-t

[Option ID = 17404]

81) frafafas & & Rerard® asg-gaa g -

[Question ID = 4352]
1. AET-HERT

[Option ID = 17405]
2. I F-919

[Option ID = 17406]
3. FEF-mmm

[Option ID = 17407]
4. =Z-AT

[Option ID = 17408]

82) WIFTT & FTH G FraT qaeat @ Tt 971, ITAT T awedT & 397 w47 & v

TH ITFT FT F4T 41T 87

[Question ID = 4353]
1. =1

[Option ID = 17409]
2. BT

[Option ID = 17410]
3. ®IY

[Option ID = 17411]
4. #E

[Option ID = 17412]

83) fauwwu araaia % fag adt asg T4
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‘T § wIT g’

[Question ID = 4354]
1. FATH

[Option ID = 17413]
2. FEe

[Option ID = 17414]
3. TEEA

[Option ID = 17415]
4, %%

[Option ID = 17416]

84) Reena throws a dice, find the probability of getting a multiple of 3 in one throw:
GAT TF ITATRHAT 2 , TH ITITH 3 T LUF ITH FH # 1 IriyFar #77 19f1?

[Question ID = 4355]
1. 1/6

[Option ID = 17417]
2. 1/2

[Option ID = 17418]
3. 2/3

[Option ID = 17419]
4. 1/3

[Option ID = 17420]

85) 5 cups cost Rs 70. What would be the cost of 12 such cups?

5FTHT 10T 70 TTF & TF 12 FTHT F197 47T (17

[Question ID = 4356]
1. Rupees 158/158 =7

[Option ID = 17421]
2. Rupees 178/178 =79

[Option ID = 17422]
3. Rupees 168/168 =74

[Option ID = 17423]
4. Rupees 188/188 =77

[Option ID = 17424]

86) The standard form of number 72,040,000,000 is:
€47 72,040,000,000 FTATAF TT ¢ :

[Question ID = 4357]
P e B v T

[Option ID = 17425]
2. 7.204* 1010

[Option ID = 17426]
3. 72.04 * 101

[Option ID = 17427]
4. 7.204* 106

[Option ID = 17428]

87) A runner takes 7 rounds of a rectangular path, 30 m long and 15 m wide. Find the total distance covered by him:
TF 795 30 HrzT o 3T 15 ATz IR AMIIUHRITIAT R 7 IR AMTAT S SR grar a7 #71 7% 17 g8 wra Ffvrg

[Question ID = 4358]
1. 730 m

[Option ID = 17429]
2. 430 m

[Option ID = 17430]
3. 530 m

[Option ID = 17431]
4, 630 m

[Option ID = 17432]
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88) Out of the following, which pair of numbers is Co-Prime?
faafafaa & @ $t7-97 d=gqrst F1 3797 gg-99T57 27
[Question ID = 4359]

1..27, 54

[Option ID = 17433]
2. 16, 62

[Option ID = 17434]
3. 12, 49

[Option ID = 17435]
4. 35,49

[Option ID = 17436]

89) The side of an equilateral triangle PQR is 4.5 cm. Find its perimeter:
TF gHaTg ST PQR #1 g7 4.5 & Htex g gawr afvqary ava Fifvrg?

[Question ID = 4360]
1. 11.5cm

[Option ID = 17437]
2. 9.0cm

[Option ID = 17438]
3. 13.5cm

[Option ID = 17439]
4, 9.5¢cm

[Option ID = 17440]

90) The graph of a univariate (y=ax? +bx +c, a not equal to 0) quadratic equation is:
TF FfANTsT (y=ax? +bx +c, a = 0) fFEATT AHFIT FTATH § :

[Question ID = 4361]
1. Parabola/973=%

[Option ID = 17441]

2. Ellipse/#Tda7

[Option ID = 17442
3. Hyperbola/zrfaae==7

[Option ID = 17443]
4. Straight line/# T F=7

[Option ID = 17444]

91) From a point R on the ground the angle of elevation of the top of a 15 m tall tower is a. After walking a distance d
from point R towards the foot of the tower, if angle of elevation is found to be B then which of the following is true for a.
and B.

TR uF fdg R 15 frer I efac R i Freawga M o g YR A taTd sware A AT d a5 #1 g8 99+ # 71y, 7fY
SHATFHIT B YTATATATE, ara AIB & g wfofaad a staarasa g
[Question ID = 4362]
1. a=8
[Option ID = 17445]
2. 0=zB
[Option ID = 17446]
3. =<8

[Option ID = 17447]
4. 0> B

[Option ID = 17448

92) There is a queue in front of the cashier's counter in a bank. Renu is standing at the sixth position in the queue from
both ends. What is the total number of persons in the queue?

T F FRITHFET R GHF FACAM gL ¢ [ AT FA4T & T # 2 e wC @t ¢ Far¢ § AFw AT 7 v d=yr pat &2

[Question ID = 4363]
1. 11

[Option ID = 17449]
2. 13
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[Option ID = 17450]
3.9

[Option ID = 17451]
4. 12

[Option ID = 17452]

93) Find out the coordinates of the point S which lies on the y-axis at a distance of 5 units from the origin in the negative
direction of the y-axis is:

g sa MEas AT AT AT y- AT TTLT R 5 THTE F1 X I y- F1 WA feaT # froq &:

[Question ID = 4364]
1. (0, -5)

[Option ID = 17453]
2. (-5, 0)

[Option ID = 17454]
3. (5,0)

[Option ID = 17455]
4. (4, 3)

[Option ID = 17456]

94) Which of the following is equal to the expression (/13 - /5) (/13 + /5)?
frafafaa & | 17 91 9% 9 FHIFI0 (V13 - V5) (V13 + V5) F FLELE ¢

[Question ID = 4365]
1. 18

[Option ID = 17457]
2. /13

[Option ID = 17458]
3. /5

[Option ID = 17459]
4, 8

[Option ID = 17460]

95) In an auditorium there are 25 seats in first row, 23 seats in second row, 21seats in third and so on. There are 3 seats in
last row. How many rows are there in the auditorium?

TH ATIIL R qgat ke & 25 €18, gad ofF d 23 €1, a0 & 21 € arfe € e sdfiw dfRe & 3 €12 § arawrme#
gt dfReat &2

[Question ID = 4366]

{011

[Option ID = 17461]
2. 9

[Option ID = 17462)
3. 12

[Option ID = 17463]
4. 10

[Option ID = 17464)]

96) The number of marks scored by 10 students in a test are arranged in ascending order as 28, 31, 47, 50, x, x+2, 71,
76, 84, 95, If the median of the data is 63, find the value of x:

THF IOATH 10 FTAT LT ATH SAHT ST GSAT HT ALIET HH A 28, 31, 47, 50, x, x+2, 71, 76, 84, 95 €7 # =;yafeqaqy fwar
wTaT g Ffx BT FrATETF 63 §, AT X FTHTH ATT FHT |

[Question ID = 4367]
1. 60

[Option ID = 17465]
2. 62

[Option ID = 17466]
3. 65

[Option ID = 17467]
4. 68

[Option ID = 17468)]

97) A milk tank is in the form of a cylinder whose radius is 1.3 m and length is 7 m. Find the quantity liters that

CoO
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can be stored in the tank:

TH QY F1 ZH) UF 99 F AFH1FT ¢ Rrady Brsgr 1.3 Aevshrdard 7 Az dexd ggfr ararara A o 5 9

gufga frarsirawar e :
[Question ID = 4368]

1.

371.80 L

[Option ID = 17469]
37180 L

[Option ID = 17470]
37.18 L

[Option ID = 17471]
3718 L

[Option ID = 17472]

98) Aman painted a picture on a cardboard 16 cm long and 10 cm wide such that there is a margin of 3 cm along each of

its sides. Find the total area of its margin:

AT R 16 FEHTZT & 3T 10 Tzt 92 va 1@ 9¢ uF w3 wawre 978 6 33t w3 F qgorrat $ iy 3 Fddtex

FreT grfaar greT vaT | erfiaT F1 §F g% wv7 FAfHT |

[Question ID = 4369]

99) What would be the sum of first 999 positive integers?

TEH 999 &7 qurfahl T 1T F4T FIAT?

[Question ID = 4370]
%

160 cm?

[Option ID = 17473]
80 cm?

[Option ID = 17474]

. 135 ¢cm?

[Option ID = 17475]
120 cm?

[Option ID = 17476]

500500

[Option ID = 17477]
498499

[Option ID = 17478
499500

[Option ID = 17479]
500499

[Option ID = 17480]

100) Salma's monthly salary is Rs 12000 and Fiza's yearly salary is Rs 191520. If both of them spend monthly Rs 9960 then

find out the ratio of their savings:

TAAAT HTATIAE F97 12000 97 ¢ ;T fewr w71 a1fdw 397 191520 w0 8| afg 3 <1 A7f® 9960 9% @< ¢ € a7

IADHT T T ALITT TT FI0C |

[Question ID = 4371]
1.

17:50

[Option ID = 17481]
15:50

[Option ID = 17482]
15:20

[Option ID = 17483]
17:20

[Option ID = 17484]
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